OkEE-EXREH)

SREBEEHEHRE ($HFEHI1~HEMEUVERAE2E., SH55F6A288~781BE/M)

[5x&EER(OA11B~98158))

BETE
OBt B E
AN & B’ OB A
R E
I E B I & Fr
=t SR =VIE SR ERE= 30.7 m
=raplll
kEFE= 30.7 m

REEAR SEHEET
K7
N

JOvyoiE A=114Tm2
INOLEE N=4FFR

Z#Al #Ba)IIKR
=raplll

REEAR SEHEET
K7
N

ER= 6.0 m
BE= 6.0 m

JOvyiE A=245m2
MOkEs N=2&Fkr

= LIHES GRS
RiE

293 m

ik
A 293 m

&
==

FEMER SEHHET JOyYEI L=28.1m
RKFZEM Xim LT L=28.1m
N HBET L=28.1m

hOwET N=A4%FR
e BIESGIE ¥R ER= 51.8 m
gkt )l RE= 118 m

ER= 400 m

Ft] W5 T
it < BT
N

AKBIOvYFE L=39.5m
avo)—kJavsiE L=115m
MOk N=3EHm

— 8% RAENIK R
gkt )l

Fe] W5 7
it < BT
N

ER= 31.0 m
EFE= 31.0 m

avH)—kJoysiE L=30.7m
MOk N=1Em

— 8% RAENIK R
gkt )l

Ft] W5 T
it < BT
N

19.0 m

73
A 19.0 m

&
==

RKBIOVITE A=92.0m2
INOLEE N=28&Fk
WEES—FI A=70.0m2




OkEE-ELREH)

SREBEEHEHRE ($HFEHI1~HEMEUVERAE2E., SH55F6A288~781BE/M)

[5x&EER(OA11B~98158))

BETE
& Bt Mt =
AN & B’ OB A
R E
I %= m® I & Fh
— A ZENIKZR ER= 737 m
=2 HE= 737 m
fit] W55 T JOvoEI A=291m2
= LA MOWET N=3&F
N BT N=1FF
— A ZENIKZR ER= 312 m
EINN
EE= 312 m
fit] W55 T JOvsEL A=126m2
B2 LT INOWLET N=285F7
N MT(FYDITI) N=1Em
— A ZENIKZR ER= 225 m
Z=EJII! BE= 225 m
kEFE= 225 m
ZEMEEN SEMHEAMET JOvsETI L=41.2m
KFHEE Kigar o )—k L=412m
#hA HBEI29)—F L=413m
INOIET N=4EFR
— A ZENIKZR ER= 19.8 m
TR HE= 198 m
i 55 T JOv9fE A=70m2
KAl T INOLET N=285F7
N MT(FYDITI) N=1Em
— AN ZENIKZR ER= 11.1 m
Z HE= 111 m
fit] 5 T JO0v9fE A=28m2
FEEHT INOWLET N=285F7
N MT(FYDITI) N=28Hm
— AN ZENIKZR ER= 477 m
B HE= 477 m
fit] 5 T XBTOYIFEL A=361m2
B2 LT INOWLET N=285F7

N

MIT(FYDITI) N=28Fk




OkEE-ELREH)

SREBEEHEHRE ($HFEHI1~HEMEUVERAE2E., SH55F6A288~781BE/M)

[5x&EER(OA11B~98158))

BETE
& Bt Mt =
AN & B’ OB A
R E
I %= m® I & Fh
— 8 =AENIKZR ER= 285 m
=2
kEFE= 285 m
fit] W55 T JOvsELI A=119m2
= | LET INOET N=1E7FF
N BT (FYDITI) N=1Em
— 8 =AENIKZR ER= 98 m
2 HE= 98 m
fit] W55 T JOvsiET A=33m2
FiRET A N=21FR
N MT(FYDITI) N=1Em
— 8 =AENIKZR ER= 6.2 m
2 HE= 6.2 m
fit] W55 T JOvsiETLT A=18m2
ZRBUHET AT N=1£
N BT (FYDITI) N=1Em
— 8 =AENIKZR ER= 440 m
Z HE= 138 m
EE= 396 m
fit] W55 T JOvsiELT A=14.6m2
ATHT EJOYHS T A=253.2m2
#hA EETJOvY I A=39m2
— 8 =AENIKZR ER= 150 m
rall|
kEFE= 150 m
fit] W55 T JOvsiETLT A=46m2
AR THT
N
— 8 XEIIKZR ER= 295 m
RFEHII
kEFE= 295 m

JLEREAR SARA
wFi5




OkEE-EXREH)

SREBEEHEHRE ($HFEHI1~HEMEUVERAE2E., SH55F6A288~781BE/M)

[5x&EER(OA11B~98158))

BETE
. OBt B E
b1 Y || I~ 7 S
R E
I E B I & Fr =
— 8 =AENIKZR ER= 11.3
L8l & "
EE= 113 m

TR A
FEhE

EFI(JAvIEI) A=41m2
EFEI(JOvYiRI) A=24m2
INOWET N=28Fk

HI(TJOyYiE-3EI) N=2F

ZHE N KR
AL

HEH
HRHET

LE= 243 m
Er= 243 m

JOvsET A=93m2
INOLIET N=4F
RZTIT A=50m2

ZHE I ANk &R
T2

HE™H
4 5 BT

TEE= 104 m
hE= 104 m
Er= 104 m

JOvsiET A=44m2
#{ET L=10m
Javo<TyrI A=49m2
INOIET N=4X

TN EINP S
eI

TE= 41 m
Er= 411 m

j%*%iﬁ SRiRER N=694
= J8HET JOvsiET A=83m2
BETLT N=61&
RIS R ER= 248
oyl & "
ER= 248 m
%JIIFH JOyoEIT A=106m2
TEET IAIET N=2f5FfF
RIS R ER= 29.6
oyl & "
ER= 296 m

S
RAHET

JOv I A=5Im2
BRIOYI T A=49m2
NOLET N=287R




OkEE-EXREH)

SREBEEHEHRE ($HFEHI1~HEMEUVERAE2E., SH55F6A288~781BE/M)

[5x&EER(OA11B~98158))

BETE
OBt B E
b1 Y || I~ 7 S
R E
I E B I & Fr
ZHeA N EENIKZR ER= 244 m
= BE= 244 m
EE= 244 m

2
ELIEHET

JOvY5%RT A=249m2
NOLET N=287R

ZRA ESRINK*
w1l

Bt of 1
itk

2
ELIEHET

184 m
184 m
184 m

JOvJ5%kT A=191m2
NOLET N=187R

ZRA ESRINK*
w1l

S
RAHET

1340 m
938 m
813 m

EEHIJOVIET A=1304m2
INOLWET N=4EFRr

A BERINK R
FR

EE=

Ef=

498 m

498 m

2)IH JOy &I A=254m?2
IRYRET INAIET N=6EFRT
BRZ T A=100m2
EET N=48{#
Zan FFKZR ER= 286 m
=eoil RE= 239 m
ER= 286 m

S
TR ET

JOy &I A=213m2
EEHTJOYYET A=63m2
INOLET N=48F7
RZ T A=40m2

ZRRAI BERINK R
FR

k=
A=

S
RIRHET

345 m
345 m

JOvo5ET A=240m?2
INOWLET N=18F7
HEKEET N=1{FT
EET N=140{#




OkEE-EXREH)

SREBEEHEHRE ($HFEHI1~HEMEUVERAE2E., SH55F6A288~781BE/M)

[5x&EER(OA11B~98158))

BETE
& Bt Mt =
AN & B’ OB A
R E
I %= m® I & Fh
Z8eA N FHRIIKZR ERE= 157 m
=7
EFE= 157 m
)it JOvsiETLT A=58m2
KIRHET INOIET N=21FT
iE2 T A=30m2
EET N=48{"
XEJIZINI ER= 211 m
ZRII
EE= 211 m
JLERZEER BRRHET avo)—kJOysEI A=112m2
KFE=iH
— iR EE ER= 430 m
B /R
fit] 5 T BEHXEEET L=80m
A ET JOvsiETLT L=130m2
A THEEM T L=42.7m
FTERAE ER= 520 m
B W55 4 55 B 4
fit] 5 T E#T L=780.3m
B R T BEHKERT L=37.1m
H N (R ERBHEMERE L=24.0m
BEEBRE V=220m3
— AR EE ER= 214 m
2478
mEM EHRET v=230m3
RIEZHT WATH#T L=1371m
N S AL L=82m
WAEEMWATT A=520m2
— AR EE ER= 46.0 m
2478
mE™ EHRET Vv=1300m3
RIEZHT W{T#: T L=2388m
N AR A T L=483m

WAEEMWAST A=900m2




OkEE-EXREH)

SREBEEHEHRE ($HFEHI1~HEMEUVERAE2E., SH55F6A288~781BE/M)

[5x&EER(OA11B~98158))

BETE
& Bt Mt =
AN & B’ OB A
R E
I %= m® I & Fh
— iR EE ER= 134 m
oy 5 E
g8 = 35 m
SHH WATHT L=182m
Fa AR ET FILZILGTIT A=82m2
{YaH)—FI A=8m2
fHE&M T L=8m
FTEHAE ER= 6.3 m
BEEXRE
Him™ KEITOVHFETL A=248m2
Giadlll fHEEM T L=8.0m
HET A=84m2
— iR EE ER= 89 m

HE = #5H

JEER AR FREEHET

IRIBITHERET L=89m

=#HE FHEEM T L=89m
HET A=214m2
— R EE ER= 130 m
EEKXEEEIGR

JLER AR SARA

BEEET (A EILBFHETI) A=16Tm2

= HET A=104m?2

FETI A=84.8m2
FTEHAE ER= 95 m
Bk H = L AR

JLER AR SARA

WRLTET A=41.4m2

=1 SIET A=66.9m2
THEEMERT L=140m
fHEEMT L=180m
FEHAE EE= 109 m
B B = LLE AR

JLER AR SARA
=L

LR+ T L=99m
/YY) —FI A=21.6m2
INOWET N=2E




OkEE-EXREH)

SREBEEHEHRE ($HFEHI1~HEMEUVERAE2E., SH55F6A288~781BE/M)

[5x&EER(OA11B~98158))

BTE
& Bt Mt =
ANl & B’ OB A
R E
I %= m® I & Fh
FTERAE ER= 552 m
R E LA AfE#R

JLER AR SARA

Ry ZAHERITRXA=798.8m2

=1 AVY)—rRAF I A=670.2m2
1515

LR SARA

WAHEBT L=161.7m

2 HEAL L=55K
EEMT T A=62.6m2
FTERAE ER= 141 m

TR B

HTKX KRB TOy B TL=135m

pe A= AT N=1%K
HET A=56.1m2
€M T L=14.1m
— iR EE ER= 390 m
1515

JLER AR BRKHET

EAMEMI A=390.0m2

K = oh £ aV9)—rRAT I A=389.6m2
— iR EE ER= 153 m
EEXEEEIGRE

JLER AR SARA

EAMEMI L=14.0m

=1 AET A=74.0m2
FTERAE ER= 180 m
ERETTHER
TeE = 113 m
2T JOvoiET A=79m2
A& /NEFHET WEAET(GRZ) A=100m?2
f;ET L=11m

BB IE S E-EIHT L=18m




OkERE-BXHE2R)
SREBEEHEHRE ($HFEHI1~HEMEUVERAE2E., SH55F6A288~781BE/M)

[5x&EER(OA11B~98158))

BETZE
R A E
b I | |4 B OB 4
ROOE
I £ M I & Fr
— R EE ER= 140 m
BELLR
g8 = 6.2 m
HEh JOvsEI  A=35m2
& HAET HAKEBEMI L=14m
HEBEIBITI  A=8m2
MI(EATE) A=4m2
— R EE ER= 200 m
BELLR
RE= 108 m
BIE™ EETL A=109m2
& HAET JOyoEI  A=108m2
NOwT N=28FF
MI (RTE) A=26m2
— R EE ER= 60 m
TOERZ LR
RE= 129 m
g JOyOEI  A=24m?2
7EHT HEKIBEMI L=6m
$HEEIBITI  A=3m2
IhOlET N=28Ff




OkEE-EXREH)

SREBEEHEHRE ($HFEHI1~HEMEUVERAE2E., SH55F6A288~781BE/M)

[5x&EER(OA11B~98158))

HETHF TE
OBt B E
AN & B’ OB A
ROE
I £ M I & Fr
Ha ERE= 100 m
4 1| BT - KFTET 2445
2i5h MR E LS N=1{
41| |7 MARE-ERlR N=1
FWTF
i HEE = 179 m
4 )| ET234 543
2i5h [BE#E L=179m
&)1 BT AEEIE L=179m
ZER:A I
R
i KELETHIEEEERE T N=1X&
YE N HT
B [
Ha ERE= 326 m
BARFR
g8 = 55 m
i /YY) —FI A=41.1m2
FRENET fHE€M T L=36.0m
BRIR KBTI A=329m2
FHIIKERT L=150m
PE] EE= 252 m
SEEER

JEER AR SREEHET

TFoh—RTEET L=21.7m

BfNE HMEET L=95m
EKkMT N=18FT
SHEEIHT A=1415m2
FBE] ER= 496 m
THRXRHR
g8 = 30 m

JEER AR BRKRHET
RFERE

G559 URF7Uh—I N=68%K
W ftiE#: A=1074m2
HEEEMMST A=713m2
FAHAERE L=3m




